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Mar ks: 138 Subj ect : 10t h- MATHS Dat e:
Chapter:6,7 Std 10 Maths -Chep 6 and 7 Part B Ti me:
[A]  oflAon uslon Z54i Gz @vil. (ST 4 d4e1) [11]
1. A aH3u bisieddi 2disn WHiel AF 2AS ? N &, dl SAL ANDHIE A¥Hcll 1SN el =L ?
2. [Ggnet ARy oicl A Ad vudl v yl.
AD 3ia BE 91 AABC ot Qg 8. ) AB = 12, AC = 9.9, AD = 8.1, BE = 7.2 dl A ABC dil uRfifc ..........
&L
3. [Gtuol 4y oidl A A vudl wdm YRl
AABCHi AM 3 CN A4 8. @1 AB = 12, BC = 15, AM = 9.6 Al CN = ..........
4. f[Gguct ARY G A A vidl va y2l.
A w43u Bislelddi Zoisol 25 el 16 & A Bisledoll uRFildel dpelaz .......... 9.
5. [Aguet ARy cial A 1A vudl a1 Y.
ABC =36 2101 PQR = 64 8. id1ddl ABC <> PQR 31 2#3udl 8. A AB=12 A PQ =...........
6. [Aeucl 2Ry Gia A 1A vuel woan yR.
A ABC #i A-M-B, A-N-C 319 MN || BC. 4 AM =84,AN =64, CN=19.2,AB = ......
7. [Ggnet ARy o A A vidl ¥ y.
AABC a1 APQR i ididdi ABC <> PQR 243udl 8. «1 AB = 16, AC = 8, PQ = 24,BC =12 Al
QR + PR = ..........
8. [Gtuct ARy oidl A A vudl v y2l.
AABC 3 AXYZ #i 2ididdl ABC < XYZ a43udt 8. ABC = 72, BC = 6, YZ = 10, XYZ = ..........
9. [Gguol AR ol A A vudl wda yRl.
O ABCD 2wudot agwsier 8, 94i AD || BC. Qeii [sell Pai 82 8. A PD = 9, AP = 5, PB = 7.2,
dl AC = ..........
10.  [Aeuet A1y cial A 1A vudl w1 Y.
A ABC i m/B =90 19l BD da1 9. A BDA @1a A BDC a3l 2ididadt BDA & ....... AMIudl B.
11, [Genet A1) cidl A A vudl d2u Y.
A ABC 3ia A XYZ 4i 2id1ddi ABC < ZXY 2a43udl 8. 1 AB=12,BC=9,AC=7.5,ZX=10,YZ + XY =
[B] oflAct ushon ZsHi Gar avil. (UASe 2 d1e1) [98]
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A ABC 11 A PQR i mZA = m/Q = 90,AB = AC = 5,BC = 5v2,PQ = QR = 2,PR = 242 . AABC 1

APQR 233U 8 ? A &1, dl sd A A A Gisiel daRAdll sd Ridddl 2¥3udl & ?

AXYZ 31l A DEF cii RRUGig aAell 2id1adt XYZ <> EFD 2143uct 8. A msX : mLY : mLZ =2:3:5
dl dcidid S, A DEF sizsiel Gisier 9.

A ABC #i 2id1ddl ABC < BAC 233udt 8. AABC Sdi usiell Bisiel & ?

A ABC i ?ididdril ABC <> BAC @16l ABC > ACB 13uci 8. ailéid s 5,A ABC pi6uy, Bisler 8.

A ABC 31a A DEF a3l 2id1cdl ABC <> DEF 2i3udl 8. A3 AB =5DE 3 DF =9 dl AC 20l

AXYZ s A PQR #i Rididdl XYZ < QPR 243udl 8. 04 mLX + m£LP = 130 dia ZX = ZY &, dl

APQR ot viewsleti 4 20ed.

Bisielell e3udiell vl iR A DEF 1 AXYZ s 2ididdl DEF <> ZXY 243udi 2kl A Hideil

2RdAl sd B ?
APQR i AXYZ s Rididdl PQR < YZX 243udl 8. mLP = 2mZQ, m«LX = 120, m£LY 2MDe.

AABC 3 APOR «il Rididdi ABC < PQR 243udi 8. AB: PQ =4 :5. 1 AC = 6, dl PR 20«
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A QR =15, A BC 2nsl.

2idtacat PQR <> EDF #i2 APQR ~ ADEF. @1 PQ + QR =15, DE + DF = 10, PR = 6, i EF 2dl.
AABC 31al A PQR i Rididdl ABC < QPR 243udi 8. AABC il uRRfilc 15 siad A PQR il uRRilc
27 8. A BC=8 3d QR =9 &2, d PR diad AC 20l

. AXYZ AL wRRE6A 3 XY X7 + YZ
ducicl XYZ <> EDF 32 AXYZ ~ ADEF 8. < ADEF 4l Wl 4 &la, dl ED Vial EF+DF one.

AB _BC _AC

AABC 3 AXYZ #i 2idtdal ABC < XYZ 2aH3udl 8. a0 AC = 3 dia

4 6 3°
XY =5, dYZ v XZ 2Mel.

[Gened viRi @ S vzl A veudl. adRkl Gdar #R2 sre €2idl : A PQR did A ABC 243u Gisiel 8. @ Vsla
Asuel Bisier w6y Gister o2l APQR i AABC adell abipi © RWdddrRil 43uct 8.

(Genell viRi ® 5 uidei A weudl. ddiRl Gdz #i2 srel eAld : daupi As3u Bisiel wHu .

([Genell viRi ® S uidei A weudl. dMRkl Gdz Hi2 sRel eAld : daupit AH3u Bisiel As3u .

(cetoll viRi & S vilei A wend. ddRl Gd 2 srel €2ldl : A RBdiddl ABC < BAC 243udl 8la dl
AABC wilgouy Bisier 8.

(detoll vkl 8 S uidei A weudl. dHRl Gdr HI2 sRel €2ldl : APQR diad A YZX ddell 2idddl
PQR <& YZX 2M3udi 8. 4 mLP = 60, mZR = 40 &R, i mZLZ = 80.

< S —
dugleii I || AB 3 A AC a Pui s BC o Qui A
82 8. ACP=3,PA=4, QB =6, l
A CQ 24 BC
siell. <
B /Q C

. L . AD 3
AABCHi /Boll [gouvs ACo Dui 82 8. 2 DC = a Jial AB = 7.5, dl BC 21e.

A PQRaii £Pall [ouvs QR ol S¥i 88 B8 sl PQ: PR =5: 4 8. 91 SR = 5.6 A3l &121, dl QR 20l

AABC ui ZC ol [Geuws ABA F x#i 92 8. @4 2AF = 3BE AC = 7.2, A BC 2del.

AXYZ 4i £Y o) (Geuws 7Xa P xi 92 8.

DAXP:PZ=4:5 ua YZ=6.5 &1, cl XY 20e.

(2) A XY:YZ=2:3 3iad XP = 3.8 &, dl PZ s ZX 20e.

AABC 4i P 219 Q 2eisA AB al AC oii #ealSigall 8. A AAPQef s 1243 &a, Al AABC
o 2isn 2Mell.

APQRai mZQ =90 1 QM s A 8 s M e PR. A QM = 12, PR = 26 Al PM 1d RM 2dell. <

PM < RM d PQ 21 QR 2ded.

AABGCHi m/B =90, BM L AC,M e AC.0 AM = x, BM = y dl AB, BC 31l CM a x 1l y ol

q3uHi Andl. (x > 0, y > 0)

sizsiet APQR i ZP sizsiel ® aid PM sefl uel da 8. <2 PQ = 8, PR = 6, dl PM edel.

A PQR#i £Q siesiel 8. A PR -PQ =9 31a PR - QR = 18 dl A PQR il uRFilc 20ei.

AABCHi AC + BC = 28, AB + BC = 32 31a AC + AB = 36. AABColl uUsr «issl s?\.

APQR ui QM 3 sel PR uzel Qg . A PM = 8, RM = 12 &y, Al PQ, QR 3ia QM 2idel.

AABC 1i m£B = 90, BM L E, Me AC. 4 AM - MC = 7, ABZ - BC2 = 175, Al AC 2dsd.

AABCui ZA sislel 8. AD 3 Bisleled s Aa 8. N AB = J5, BD = 2 &, d Bisieion
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seldl coud onel.

AABC 3 mZB =90, BM 3 AC u2o 4 8. 2 AM = BM = 8, dl AC 2d€l.

AABC 3i mZB =90, BM 31 AC uzdll da .91 BM = 15, AC = 34, Al AB 20\,

AABC 3 mZB =90, BM 3 AC U2l A4 8.1 BM = 2./30 , MC = 6, dl AC 20\,

AABC 3i mZB =90, BM 3 AC el da 8.1 AB= .10,AM = 2.5 dl MC 2ds.

APQR % mZQ=90,PQ=x,QR=y 31d QD L PR &a,De PR. dl PD,QD 13 RD, x 3id y oil
AIUHI AnaA).

AABGHi AB = AC 31 ZA sesi1 8. 2 BC = /2 a dl Bisteig 2visn A€ (ae R,a > 0)

dorlzA ABCD si AB + BC = 23, AC + BD = 34. dorlici 2isn M.

AABC %i mZA = msB + mZC, AB = 7, BC = 25. AABC ol uRBifa 2e.

6.5 Mle2 doudeil (el Ealda 6 e GludN 2l O. wolal Ut [c112eilolt Osiel Raia2il Jia
2NeN.

AABC#i AB =7,AC =5,AD = 5. 4 D3 BC o #ealsig &a dl, BC 2del.

AABC #i AB =17, BC = 15, AC = 8. Bisieicil 20l 3] oiy, wReil Heuoll dond 2del.

AABCui AD ueavn 8. ABZ + AC2 = 148 31d AD = 7 A BC 2ded.

cioiNA ABCD si AC =25 3iad CD =7 8 dl doRlcll uRfila 2ne.

oIy AGrsIel XYZW i XZ = 14 1 YW = 48.XY 2l

APQRHi mzZQ:mZR:mZP =1:2:1. 4 PQ = 2./6 &, A PR 2.

AD, BE, CF 3 AABC ol ue2d1il 8.0 BE=12, CF=9 31a AB? + BC2 + ACZ = 600 &2, dl

AD o0&l
Juglazi AC 91 Aeiopii doilenii Glou C

sdl s aivdicll doud 8. aicidia
B [ﬁgehaﬂ dindidi 3 8 S 2l aieidicl
AA Aeid A3 A [Gig Aicaen doilneRil 15

Hle? & 811 Vi N Uieidicil dond

25 le: &k, ol Aieidicllt Guell eld1cil
doud 2neN.

[C] oilAou usdon Zsai Bar avil. (UASo 3 der)

61.

62.
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64.
65.

AABC 3i BC 4 did2 &1 adl vt AB 31 ACA diasA D ial E i 82 8. iAol shesui lda

vidl a2t 15\21.

s4 | AD DB AB AE EC AC
1 3.6 24 | | e 1.8 | ...
7 R 6.2 | ... 3.15 | 4.2
S A 12 | ... 6.4 8.0 | ...
4 72 | ... 184 | 54 | ... | ...
LS T 34 | | e 2.55 |5.10

AABC #i ZB sieviell 8 didl BD 3 sel u2ol A4 . A AB =8, BC =6 dl ABDC o Zoisn 2Mel.

AABC il ouailcti 3ealéigyil B, Q, R 8. APQR il cuyilcii uealbigyil X, Y, Z 8. AXYZ of s =
10 &2, dl APQR iad AABC di 31isn 2Del.
O PQRS cic2h221 &. A PQ + QR = 7 21 PR+QS=10 8k1, A [ PQRS of dvisc 20el.

aouy, Gistet ABC #i De BC 1 BD: DC = 1:2. uléia sA 3, 3AD =+/7 AB.

[15]

< Maths - Manoj Joshi 8718812897 >



/| Page:4 [/
[D]  oilAon ushon ygRIR Gar @vil. (UASCI ¥ dpe1) [04]

66. ofld A ABCcil izl AB, BC, AC oli i 21d 8. £3s4i sal sizslet Gisier 8 A «iss] s, A sieslel

Bisier 821, dl s viel siesle 8 A wveud.
(1) AB=25,BC=7, AC=24
(2)AB=8, BC=6, AC=3
(3)AB=8, BC=6, AC=10
(4)AB=4, BC=5, AC=6

[E] oilAon ushon ygrRi2 Gar @vil. (UASCI u dper) [10]
67. AABCHi AB = AC 3d AD #ea2u 8. 9 AD = 12 %1 AABCdll uRfifa 48 &la, A AABCof

adisn 2Me.
68. AABCHimZA + mZC=mZB 3 AC: AB =17 :15. 4 BC = 12 &1, dl A ABC of 2 2Dell.
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